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XapaKTepUCTUKHU ABUKEHUSA

4) Xpopdunama.
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I' papmueckoe npeacraBjieHue
PABHOMEPHOI'0
NPAMOJHMHEHHOI0 ABUKCHUS

1. I'paghux ckopocmu: v = f (t) v = const




'paduveckoe npeacTaB/IeHHe
paBHOMEpPHOro
NPAMOJIMHEHHOTr0 ABHKEeHHUA

5, =,




'paduueckoe npeacraB/ieHUe
paBHOMEPHOro
NpAMOJIMHEHHOro ABHKeHMA

2. I paghuk nepemewienu: sx= f (t) sx = vxt V = const
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'paduueckoe npeacraB/ieHUe

paBHOMEPHOro
NpAMOJIMHEHOro ABHKeHUA
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'padpuyecKoe npeacraB/IeHHe
paBHOMEpHOro
NpAMOJIMHEHHOro ABM)KEeHHUSA

4. I'pacpux Koopounamot: X= f () X=X,* ‘th




